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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1)
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4)
5)
6)
7)
8)
9)
10)
11)
12)
13)
14)

15)

13+6=7

15+ 14 =7

27 -16 =7

11M-8=7

12 +9=7

4+7+5=7

20-5-4="7?

21 + 22 + 23 =7

19-6-7=7

40 + 28+ 12 =7

26+ 17-16 =7

38-15+ 14 =7

17 +29-42 =7

50-6 + 44 = ?

44 +33-22 + 11 =2
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16) Each shuttle bus can carry 50 passengers. How [2.0%)]
many passengers can 4 shuttle buses carry?

EWMFRELTTUE S50 A, B 4WMFRELA
LEZ D AN?

17) How many prisms and cylinders are there in  [2.1%)]
the figure below?

TEXEZ DELERE?

‘—-l-I-I-I-I-I-I-l-l-..

~..-I-I-I-I-I-l-l-l-l‘
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18) How many triangles are there in the figure [2.2%]
below?

TE£HS P E=AT

-----------------------------------------------------------

>

) ~
19) How many hours have passed? [2.3%]
BT %D INEE?
Start time End time

8 4 e 42 OR e ]
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20) How many apples are there on the tree?
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21) Find the missing number. [2.5%)]

AR ERIEF .

20+ 2?2 =12+ 21

22) Find the missing number. [2.6%]

AR ERIEF .

17-9=_7 -8

23) Connie is 110 cm tall. She is 13 cm shorter [2.7%]
than Lily. How tall is Lily in cm?

B 110EX, tbk/NhEZFI13EX. B/)hE
/NMEXK?

I%
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24) Johnny had 72 candies. He ate 28 of them last  [2.8%)]
week and 16 of them this week. How many
candies did he eat in these two weeks?

KIEIRAE 72 fitER, LEHAIZT 28 AL, FE

HAZT 16 fi. FfiEMERRHEIZ THER S DALY

25) Which of the following five numbers is the [2.9%]
greatest odd number?

UTHREHFF, B—ESHARIEL?

89 98 69 100 91

26) Find the sum of the smallest 2-digit even [3.0%)]
number and the greatest 2-digit even number.

RN EE M ERAKAIMAEHE D D?
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27) Peter has 15 dollars and 80 cents. After buying  [3.1%)]
one pencil and one ruler, how much does he
have left?

NPBE15T8 A, MET—ZHEMN—EHER
%, BRTE D

‘—-I-I-I-l-l-..
LR B BB N BB B BB N BN N |

28) There is a 2-digit even number, the sum of the [3.2%)]
digits in units place and tens place is 2. What
is the 2-digit number?

A—EMMLEE, EMEMLEFNE+MAEF
T 2. BAMEMLEEZD?
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29) By how many centimetres is pencil C longer [3.3%]
than pencil A?

S C ILEE A RS DER?

-----------------------------------------------------------

‘-l-l-l-l-l-l-..~
..-I-l-l-l-l-l-‘
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30) If the 1°'day is Thursday, which day of the [3.4%]
week will the 25" day be?

MRE 1 HEEHM, AEE 25 HEEHR#K?
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31)

Find the missing number in the pattern.

RIFARRE, IRHBR ERIEF

10,21,32, 7 ,54,65, ...

[4.0%]

32)

Alex is 4 years older than Bryan and Bryan is 7
years younger than Calvin. If Alex is 12 years
old, how old is Calvin?

PERRSE K 4 5%, HEEAHEE /DN 7 55 AR
SE125 BERBSFEZ DR

2

X
X

pl

[4.1%)]

33)

Eric has 37 marbles and David has 65 marbles.
If they share their marbles equally, how many
marbles will each of them have?

IMNEBA 37 KT, NEH 65 K. IRIE
e FIRE FF 7, BATBIKFEZ DA

[4.2%)]
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34) Accroding to the pattern, find the missing [4.3%)]
number.

RIFFARE, HKRHBRIEREF .

_
N

ol
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35) A piece of square paper is folded 5 times as [4.4%)]
shown below. It is then cut along all the
folded lines.How many triangles of the same
shape and size can be divided?

B—REAFFEFIRKUATHAEHERE 5 R, &
RGMARRER, TR EZMERRR=

i

1st 2nd

P10
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36) Mary and John are lining up at a bus stop. [4.5%]
Mary is behind John. If there are 14 people in
front of Mary, 22 people behind John and 9
people in between them, how many people
are there at the bus stop?

INFTFNEEE it HER, DNAHEDERE
H. HNFHEERET 14 A, MEREEH
T 22 A, MFIZEAE 9 A, AELiEHEE
N2

37) How many rectangles are there in the figure [4.6%)]
below?

TEXFEZMERGH?

P11
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38) The sum of a 2-digit number and a 1-digit [4.7%)]
number is 19. Their difference is 5. What is the
1-digit number?

A—E—MEM—ERALE, EMANME 19,
MEMPIER 5. MHBE—NEE S D2

39) How many dots are there in the 11th figure? [4.8%]

EBl+% 11 ABEXBZ MEEE?

[ ] [ ] [}
[} [ J [ ] o 0 o [ ] [} [ ] [ ] (?
[ ] [ ) ®
[ ]
1st 2nd 3rd 4th 11th

P12
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40) If the digits “1” to “9” are put into the 3 by 3 [4.9%)]
square boxes according to the instructions below,
which digit will be right in the middle of the square?

Put “17 ,“2” and “3” in the same vertical column
while “3”7 , “4” and “5” in the same horizontal row;
Put “1” above “2” and “2” below “3” ;

Put “3” and “4” to the left of “5” ;

Put “5” in between “6” and “7” ;

Put “2” and “6” to the right of “8” .

AHIBEF (1] E [9] HTIERENUTHAS
BN, BMESFEHE I EEFRE?

11 . (2] # 3] ER—EIT,

m [3] . [4] #1 [5] MER—ET

/1) F#E (2] B9EF, M (2] BFE (3] B9 F7A:
18 [3] 1 (4] BFE [5] HIEF

8 [5] A% (6] #0 [7] ZR;

8 [2] #1 [6] BFE (8] BIEF-

End of paper
£E7T

P13
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